No.1

fSw D - J4—)LRTEH - FiE - ZERE - RS - BRER
bl EER a— K |31 B4 $£46E FAEEMXEEFBREFIERS a— R 19 31 0712| S E Mg B & X2 B OB
BRIl EHBEE LSRRGS CKTT - 587 - BOE - ARBSBTRESENS)  BHHS XFHERLUELRES a—F 312030 | FoERTAE Z 5
i omn | e i e |0 s i || BEEs e || sEEs e e
07/27|—#& - &BF| T2 | 1 [+0. 1Im| 1 [=5/ 73 EHIAS 11#20 |[2 P98 #L#t Be 11753 [ 3[db4At HEA KFAS 11789 [[4[ILA #H BEEvAs-1 12520
100m B B B B
5[XKI REE KFHS 128029 |[6 | e XK= XFIES 12%058 e R KFIESR R 5 fE HEK BiREes R 15
_ IS S S S
07/27|—#% - SREF| $#E |2 |+0.9m| 1 |BIHH EB— EHIAS 11#38 |[2|80 #E WIBXES 117046 | 3 |4t iR =3 128001 |4 |FHFEZ —F KFAS 128011
100m B EiR B B
5(FAHE K BEHVAs-2 128045 |6 |ZEm WA XFIES 12%161 BEE &KX KFAS R 5 A EZEKER b =3 R 15
_ _ B _ EHR B _ BE
07/27|—#% - SREF| F:E | 3 |+1.4m| 1 |BILEEZ N =3 108097 |2 |ctk EZ XFits 1152 ||3|1= =3 XKFES 11#64 [[4|1238 && KFAS 11%094
100m B B B B
5|1FH EFiA XFiils 12¥008 |6 |BHr =3} KFAS 128027 || 7|87 B XFIES 14F211 BSERIE 2 Bh N R 15
_ _ B - EHR EHR _ B |
07/27|—#% - 8REF| F:E | 4 (-0.7m| 1 [1EEHE—EH KFAS 118012 [[2|gTEE Hdk EHAS 11#043 |[3|K# 5EER BEX 11877 |[4|158FFLE WImEs 11078
100m B B B EiR
5 (B E—ER KFIES 128030 |6 |12 KfE KFHES 128033 (|7 (8H LEF EEAs-2 12874 || 8 |7 ZR EREs 12%98
| EH B B _ B
07/27|—# - SREF| F:# | 5 [+0.3m| 1 |&AT FF BEER 1M#21 |[2|5H & =3 1141 |[3]|F= fik K KXKFAS 117063 |[4ithid R XFiltis 115066
100m B B B B
S5|1%FiR FE ﬂé?i% 128014 |6 |EEA EiE ﬂé?l%% 12070 BiL - éﬁwx&—x" Ri5
E i E i EHY
07/27|—# - EREF| F:E [ 6 [+1.8m| 1 [2]7 EH=E ERX 11857 [[2|1%8F HA XFits 11#:84 | 3|IL4R $RiE XKFRS 128013 [[4|2A 1Eth XFiltis 12%033
100m EiR B B B
5|8 ER EHRVA5-2 13723 HH EE KFE Ri5 HE BB EHIAS Ri5
S 5 5
07/27|—#% - EREBF| R -1.3m| 1 [{EME—EA KXKFAS 11809 |2 |BiLgEZNT BS 11#22 [[3|=8 73 EHRAS 11829 [ 4|82+ F&F B EER 115034
100m BEY B B B
5|AE JHEL EHIAS 11%#40 [ 6|F1tE B— EHAS 1156 (|70 #E WIBES 11#59 |[8|EH &/ B5 11§65
I _ _ SR _ SR ___ S _ S _
07/27|—1% - e&RBF| TE | 1 1A FOfE XKFHRS 52041 || 2 (LUK pel KXKFAim 55872 (3 |BBFFHLE WIEES 56788 =\ F EHRX Ri5
400m E 1 B ER EiR
v s éﬁwx&—x“ Ri5
B
07/27|—#% - SRBF| FFE | 2 1|ER Al— BEX 52F066 | 2 |EF#t B B 53#75 (|3|ixH BE KFAS 54068 || 4 |+ HEL KFHES 55#19
400m B B B B
5 |§E it ﬂ;?l%iﬁi S5T#78 SHE ZEF EH&U@—Z“ RPEEE
B 5 HY
07/27|—#% - a%BF| ¥& | 3 BT REES BEX b3F12 |[2|@@H A XFits 55006 | 3 [iE&< AKREL BE 56F057 |[4|FF EF akirunner 57#063
400m B B B B
5|ME EBEX akirunner 50099 [l 6 (/ML A KFIFEE |1500802( (AR XAk KFAS R 15
_ B B IS
07/27|—# - BREF| F&E | 4 1]5kK  Z¥A BEK 5272 |[2|BEA EE KFAs 55035 |[3 |k EZ% XFits 56F008 |[4[1EAX Bt akirunner 56§64
400m B B B B
BIEEZN by =3 Ri5 FATE g BS Ri5 A #Fth BEVAS-R R 5
B B B
07/27|—#& - ERBF| R 1A FrE KXFES 53F034 |2 |f8H A XFits b3#84 (3 |ixFH HBE KFAS 537096 | 4 |FF#T = B 54§31
400m B B B B
+ia]  BR5h KFHS R 15 kK BN BELK R 15 iR Al— BEX Ri5 BE ££F BHEX R 15
EHR EHR B BE




No.2

fSvd - J4—)LFTER - F:FE - HRE - A - BLERR
beth B a— R |31 s F46[0] AEPHXELFEEFIERS a— R 19 31 0712 #eq|E PR B B EZ BN BiE
AR AR FEER M R E SRS CRFH - BT - BAN - EBBEBHELGEGS 4 KFhEHEUELERIS =N 312030 S04k AT E B3
e A ||| m ﬂ'_if 4 R, S E 4 R S E 4, IR, S E 4, I g
07/27|— %% - B+ & G{LU] 1 TEZE AH 1 |RIlmEs | 47200982 [BEx & 2 |kFim A53TT10( 3 |FhEE AR 2| IldmEm |4033W3d|4[/NE —i0 1| RKFIxm | 4534128
1500m EiR B EiR B
5T B8 2|kFhis 455397084 6 [InfA B 1 |[XFAS 455805000 7 (B2 #R& 1 |BERK IS0 8[mIl BE 1|85 4253465004
B B B B
9O 3maR EHRAS 4548FT8|10[faF WLt 1 |RFES 4550810113 E =8| B ILI5) | 4052088 |[12[RZE A | |[KFE= 455587599
B B B B
13| FH{ BA 2 ﬂ;?ﬁ% 5512880 O J/A | %&%E% x5 AHF HA 2 ﬂg%@% R 15 Bl AB i%e%;é; Ri5
E 1y ) E Hy _ E Hy ) E Y |
07/27— & - &% BT & G4L0] 2 T[#@E K& 75 R H b A0 43 | 2 [EA Bk akirunner | 451090490 | 3 |FRim &K akirunner |40 17%014) 4 | K3k D3 S |RIEZEs | 4518850
1500m E B B EiR
5@ =% akirunner | 453241496 | 1&KiE 2 |KFE= 45267537 BB #3F  2|kF=Rs 520730 [ 8 [Fm & 2 |[MImEs | 4520764
E B B EiR
I[EARARGBE 2|Bm A3 10 hE BB 2 (M ImEs | 4032001 [11|FE Bt 2 |[WilmEs |4041007|12[FR e 2 |RiImEs | 4545854
B 2R 2R 2R
BEI &= 2 %&%i% A553R29 [14[EL Bt | %é%i% 5522011 [%8 FTRm | gm#% x5 A EE 4 giﬁx x5
BN EHy _ g B
07/27— 1 - BRET| A% & WX 2 XB w1 e =25 1 BRE—E8 2
4 % 100mR 1E# #E 2|*%FAS 447064 || 2|BE &Rk 2 [HBEA 467026 [[3|BFAR tBA 1|1BE=B 467041 || 4|EE BEIE 1 |RFIzs 48F159
® BX 1|BH Ml fl#t 1| S ERRELT  2|RH MU BA O 2|BE
%Ei—ﬁj}é 2 BIEELN 2 BA E 2 A s )
7 =Y 1
SlEsEpiEZ R 1 |BREeS 515014
®E FA 1|BEKR
) WA mE 3 )
07/27|— 18 - BRBEF| 1% R o 2 =5 Ba | BoiE2E 1
4 x 400mR THHE =ZE 1|EEA 3pa2fI8| 2 (LA B 2|kFES IV 3 |RE A 1|EBERAS 443375082 =8:\ PN x5
HFK EBX 1|BW & mEA 2 |BE = Z2Rx 1|EW BH
meiﬁﬁii g = BEE 2 b BEA 1
R
FAf%  #List 1 [iE=B R i5
BiEELN  2|BH
_ XHE 1
07/27|— 1 - RR&F| T& | 1|0 1m| 1 BE 2 2 ié% 138014 |2 |ie =8 | é&%it% 137036 || 3 [B/K =< 2 é%m% 135066 || 4 [/MEx ma | é%ﬁ% 15%075
100m B By B B
BX =& 1 afﬂx R 15 e B2 4 zﬂyﬁt R 15 SN %&%E.‘%‘ RI5
_ =5 ST ST
07/271— 1 - BREF| T&E | 2 |+1. 1|1 | =l 2 2 igg 120079 || 2 [falG BZ=E 1 ﬂ;ﬁm% 120097 |3 |5F @m=E 2 é%m% 137016 (4 |5A T2 2 |RIikEs 137039
100m EHY E B EH BiR
S5EE X% 2 (RImEs 138044 [ 6|aA & 2[XFiE 13#055 [7[=8 BH 1 |iImEs 147520
_ ) E18 E =iz
07/27|—1& - BREF| TE | 3 |+0. |1 |BEo<H 2 ag%jt.%: 128061 |2 /ML ke 2 ag%dt% 137024 |3 |#HE =& | é&%zﬂ:.‘%‘ 13§034 || 4[/8A T8 2 ﬁié%ﬁf%‘ 13138
100m By EHy B B
5@m hE 2 %&%it% 137089 L g;ﬁ%‘% R
) E Y B
07/27|—8% - B&F| i +0.3m 1 [BRD<CH  2|XFiE 128063 | 2 |=H 2 2|8 12873 |[3[iEE EE 2|85 137008 [[4 |2 WE 1|XFmEs 135011
100m B B B B
5|EF m=E 2 |XFEm 13F019 [[6 /ML kzk 2 |[kFiS 138022 |7 (MR Z£ 1 [XFi&Es 13%030 |8 [l =% 1 |XFits 137038
By By B B




No.3

FSvY - J4—JLFTER - FiE - R - RIS - SLiRE
bl BER =— 1 [31 Bias  S46E FEEBRELBEEFEAS a— 19 31 0712]  EHIE AT UK L
BRIl TR KR E BRI LT - BB - FIAE - AHBEBHELBRGS B4 KFHERILELRES 2k [ 312030 | s RE B
ar|omn | | e i e |0 s i || BEEs e || wEs e e
0721 BRET| & |11 0n 1 /N0 FK 2| RFEE T3 |2 |EE X5 2 |RImES | 2/B50 (38T BE 2| kTREa IS0 |4[EA FE 2 |RIBES | 28P0%
200m BH B8 B B8
5Bk BR 2| kTEE 28786 |6|=8 BE 1 |RIBZES | 0B16 |1|Af BF 2 |kFTEa 018 | B HPY 2| KFERS 3]
_ _ By B8 By _ By
0721 BREET| TE | 2|01 |EEo<H  2|XFE 2657 2| LE BZE 2| KTEs JT00 |3 BE BE 1 RFIS R OREEEE TS 2TH583
200m By By B ER
A EEE 2813 |6|BE ME 2| KFiE 2820 |7 B BE 1 RFLS 2822 | |ME TE I |laEs | X5
N EHy By _ By _ B8
0721 BRET| BB | |01 |EEo<H 2|XFLE 6N 2B BE 2| kTEe T8 |30 RR  ZRFEE N R ERIEEE 2TH55
200m By By B B
S5(FER XS 2|MWIEES 27%076 || 6 |EaH EN 1 |[IES 288017 TR FE 2IEES 28%049 BE #FX 2|XFEE R 15
B8 _ By _ B8 _ _ By _ N
0721k - BRET| RB TIRE B 1| kFEE | 4560046 2|mE B 1 |kFEm | 4560000 |3 | REEDAE 1|5l SRR 4B =E  J|IEES | 5A30n
1500m By By B B8
HEGEE T ﬂ;?l}%’ AN AEEE N é%i%‘ 533357 | 7|ME E&F 5 iﬁm 5535736 | 8 |BE =5 1 gé\;m%% 553477554
By BH B g
LA BE 21 KFEE  |[5H02008[0EN BE |RIEES [5A50B0|RE EE T|XFEE  |[5A0RA 1250 BR 1 XFEE  |[5556830
By B8 By B
B\ B 2 ﬂé%i% 553598021 AR Mg 2 ﬂé?ﬁ% Ri5
By By
07/27|—#& - ER&F| R -1.4m{ 1 | ERXBFEFE 1|%XLE5S 17818 |2 |9 BiE 1[(8BS 198024 3Rt £ 1[EBES 19§82
100mH[0. 840m/8. 5m] E1R IS B
07/27|—#& - ER&F| R K OEAR 2 EA FM 2 = EHE 1 ik AE 4
4% 100nR 1|l Bz 1 |xFES 50Fb54 | 2|chA HiE 1|58 53%088 | 3|RE kH 2 |KIEES | 5461 4|l EX  4|BERK 59EH10
= BZE 2|BER At 7 1|BE =& FE 2|BR @M EH 5B
EE HE 2 EERALE 1 2l =H 3 AWBEF 4
A R 15
By
AIEEZE AR ANRE DI B2 |20h WF T BEE—® | 1381 |3 B8 Fn 1 |E0F 352 4Bl BE T |BEE=F | 13872
100m By By B B
lEm  ® 1 |EkT 47507 |6 |7t B 1 |EWED 423 | 7T|EAABA 1 |&Es 147565 |8 |/NI B 1|&#n® 167536
| _ _ _ SR _ _ S _ _ S S
AIEEZE EAEZARGREL BRI S TI50 2|5k FE 1 |BEE=F | 1288 |3|EA &R T |NET T30 [4RH Bk T|BEE—F | 138548
100m By By By B
5R% BE 1 |EAT 13599 |6 |EAITA 1|HmT 14538 |71 BE 1|H@E® 6794 | |2 @I 1|=4A® 3]
_ B8y — |em B } __ |em ]
02T ERT | RE | |0 1|BE ZEB 1| NES TOA0 (2| 5K R T |BEE=d: | 19902 |3|Ldk W 1 |(BEBE_m | 1303 |Ike =& 1|mET 137535
100m By By By By
SIAR A I|[BEE—F | 13959 |0=R% TR 1 |E0T 3783 |7 |BL BE 1 |BAE=d | 1389 | |8 BE 1|Z&® %
_ _ By EHy _ __|em B
AEEAE R R ARG BEEEEEE L 99 |28 =& 3|mEs 017 |3 |EN T Z|BAS 2 GRS EEE 127569
100m By B By B
BT — 1 2|kT T3/61 6K 91 Z|kFILFd | 13893 | |RE HE I |BEE= 3]
_ IS IS _ IS _ _
AIEEAE R R AR DB EE S 012 2|27 BE 3 [RFILSd | 12858 |3|EABR—B 2|=AM 0768 |4 FE BE 2| ERF 277
100m By By By B
5IEE A 3 KFLFE | 13930 | [BE FR 3 |HET 3 A& B 3|l 3]
SR SR IS




No.4

S VD - J4—ILFTER - FiE - BERM - R - BRERK
LML ShEl Gitias  BACE EEMEEHERFEAS s—k 19810712 HHE  FE R &%z EN S
EAREL A FEBREE LR KT - B0 - mAH - BBREBHELRERGS B4 K F BB LRE L ssihig g g (312030 | asrife i
IR i e |0 s i || BEEs i PP [/ — — —
O/TEErERT | FR T[T (1F He  Z|mEe T8 |2[MR WA 3 ROEF 2825 |3 2| mpT lfEETER T RRES TR
SRS %“:;L;q: 300 |6|=F BE 2 Si%egjtsm: e T B T s T A
TR TR R | [0 1|16 B Z|mEs T8 2|58 BE 2 ¥§§|§¢ L EET et T T 4B FE 3R T27530
- 5[ER @R 2 g:g;q: 238 | 6| i 2 }'"%qé.?;q: A7 AT e 255 mBn (1T B2 TlAS IS | 5
TEERT | R THE WA 3 S5P TH0TBO0| 2[BE AL 2 %%é;kq: BT ER A T SRR TERTRE TIEes TATIB00
5@ B Z[EkE 5185593 = B B
07727 {";O%)n%? R T[&%k BE 3 %géqﬂ 1521536 2| KL B 2 g%n&q: 153025 |3 |ERA & 3| BOW 1535104 | 4 |[lak B 2|k 175367502
5|&@E WH 3 gﬁ,m 150769 6 |[2E 2 2 'g%q: IR5030 | 7 |25 B 3 "zgéq: 175587080 | 8 ke Boa 1 ggq: 525007586
VIXE RE - S|EEEF | SH0WITIIOTE AX T é%gqﬂ 550154 |11 8 BA 2 éﬁqﬂ SoBUTIER & ZlauE VR
EEEE NS 52054 1A T BA 1 %égz GE 573251038 |15 B8 & 2 é;%qj P [E T s eyt < R 2TIb32
e GE 3 %gvﬁm X% | 84 &G 3 }*%q: X% | [FE RE | }%é&q: 5 B
e R il S g%qﬂ BT TR EE ZaT 005 |1 EAR—B  2|EAT 277560
S i ?J%Er ﬁ%ﬁtf : m—ﬁq: o |2|am BAE 2| e Hh ] = Ry
W 4 2| B ’ EanTR oem w0 |3ER HEE 2\EAR=® | O3 |42 88 3kTaAe | 0B
TTEEEET R T T e e yry mH g 2 B YO _ -l e
P = 30 00| ZER oL 1A BT [SIEI s 1[EEE 5B 468 Uk 1| HET T67501
] FE E 1jgHe 7B | R ER T 3 LI
mﬂ7%§ﬁﬁﬁF FoE | 2 [+2. 3 1 [ B> 1g$¢ 439 |2 |1HE B=E 1§§¢ TR 3 EE BT TEET e TER T e TR
] S[EEAER 1[REyET | GO0 |§[EH Ex 'ggqa T B g o B
OI7Z|FETET | PR |3 (2 O T [ EI R AR LET7A PAE=E =TT %égwﬁq: [ e 2 TAF70 |4 @A 1| AL T57531
528 B ,%EEP T645 |6 (L BHE 1 égm 16747 B S
01721\ FETERT | AR |0 Ty T/RH £F 1 gggq: T3/01 | 2| %5 =B 1 %gzm 14563 |3 |5% B= 1 |KLW TIF76 |48k 2B 1|&@sEm | 14080
] 5[HE &% | %HD;F 5504 | 6| B8 @E | %%égi;q: 05 | TIEE BT T I EA e i T5%514
07/27 ?ﬁnz.wzz% F& |1 [+2 131 tE 3 ';é;%}%th 3815 (2| BABDEH 2 "'ré%%f;ﬁq: 13728 |3|LE D& 2 r%fzq: 35007 | 4 MBESNEE 3 %i‘?iq] 37508
5[5k EF 3|B@T e [SIEESy 3nes e T EEs s if;q: N~ B
B E By




No.5

fSwd - J4—)LFTER - FE - ZEREE - R - S0EE
bety BER a— R |31 B4 $£46[0 FmIHRELRBEFERS a— R 19 31 0712| S E Mg B & X2 B OB
T FA FEER KR b SRS CRTH - EET - BAE - BBBRBHELSEETRS R4 KFMEEIUELFRS 2k | 312030 | Sk AT RE B
ar|omn | | e i e |0 s e || BEEs i || wEs i g
07/27|FF2 3ERTF| T2& | 2 |+1.om 1 |/ Bz 2 |[m@Ed 13773 |2 |BR K&k 2|@ES 131075 |3 |RBRERF 2|EBET 47001 ||4|F BEf 3 |=fkd 147021
100m B B B B
5|1R o= 2|EAT 147040 |6 |AKR BEE 2|=AF 147065 || 7|®%E = 2|EOF 157065 NS HE 3 (AHT 3
_ S S S _ S
07/27|hE2 3% F| Ti& | 3 |+0.om 1 |lBE Ti@ 2|&f+® 38001 2| M & bA 3By Bp 317 |3 |[/NBOG T 2 |mfEd B AEAIEETENEE 1457007
100m B B B B
AR ARSI 147057 |6 [B8 B/ZE J|ER/EP 147063 7| AL #E  2EOF 15%030 |8 |7E 1&H 2 |A@E 157066
) By By By B
07/27| 2 3G & F| REE | |0om 1|1 ra>A 3 |E£Es LR 138024 |2 |lE T8 2|&iF 137025 |3 |BAD=H 2|EES 137056 || 4 /MR BEZx 2 |isf&Em 137089
100m B B B B
SINEOGT: 2 |mES 147000 |6 B X% 2|@ET 147007 | 7|HeE PE 2 |=fEs 147519 5 thE 3 |EWmET x5
| _ ISE ___ ISE _ ISE 5L
0121 ZF&F & | 1-0.6m1|/NE Tl 3 |=BKE 217056 |2 | FHbA 3 |EiEs EF 277062 |3 |H =& 1 |&F® 281049 |4 B2 EB¥ | |fek® 31710
200m B B B B
51K ZTxX 2 gﬁiqﬂ 317050 Ee B 3 ?%%EP R 15
E 1y EHy
0121 F&F FE | 2|-2.0n1 | BE 1&g 2[feEd 28F065 || 2 A 1AM 3 |%kiEs B 287070 |3 [laA BB | |BEE=F 20129 4|8 BEit o |=&R® 307042
200m B B B B
5E% W= 1 |AWLH 30F046 | 6|5 ©BZE 2 |fmAEF 31508 SN tE 3 |EWMESD 3
B B - _ B ]
07/21|th=&+ R B 1.1 (I THLA 3|EE RS 269081 |[2[/NE i 3 [ERT 27%051 (|3 (4t ZF 1|&F+ 2814 |[4[BEE &% 2|12&Ed 287015
200m B REFH B B Em
SR i 3 |&EEsES 29000 || 6 (WK HF 1[BEAFE= 208055 || 7|/ EBETE 3|ERT 307050 = OBZFE 1 (XKWlus Ri5
_ 5 _ 5 _ 5 _ IS _ _
0121 F&F R T|Ek #hE 3|kEErbom |00 10023 2|d8 18 2 |EEs EF |62 20024 |3 [ER & 3 |m@s 573205088 [ 4 /MR BRR O |y LR | 55205027
1500m B B B Em
5|FExk Btk 1 %a‘%&ﬁqﬂ 5324¥049( 6 (KLU =rE 1 rgzsq: 65312%069 B #lE 2 %%DEP Ri5
Ey ) By E _
07/21|h=&F RB -1.9m 1 [;EA W 2|[FEAd 17#68 |2 |RE B&&H 2|FAH 18¥029 (3|9E fExE 1 |XKWr 20023 |[4[1RE LY 1| XKWk 20%280
100mH[0. 762m/8. Om] S By By [t
MO #B 3|gkEsES R 15 #=E ER 1| XKls Ri5
_ ST ST _
07/21|FEEF R = D@ 2 ARk BT 2 B BB 3 RIE DLy 1
4 x 100mR 1 BRHTH 2|@fES 5335 |2 |EH A =V N == 55023 |[3|/hEE tiE 3 |ERWF 567018 (4 |=@k BLZFE 1| KWue 58%)36
INEODTT- 2|BE AE KF 2(EW BFE 2F 3|(BH FHE fEE 1|BE
IR BZE 2 A F3= 2 EE #BT 3 iR mFl
MECEEE
5lEAK #F4 1|BET 59F452
B A 3 |BH
_ AE KR 2
07/27|/NE5-6EBF| TiZ | 1|40 6m| 1 |F8H BE 6| RF 14928 | 2|&m BA 6|IFkF 14781 | 3|AE =8 6(1mA4775) 5814 |4 BE =& 5| KFEL)T | 16822
100m B B B B
5IFE & 5|kFREL)57 | 16838 || 6|mIk fBE 5 |SMIC Jr 177063 =& & Gb|AKLUEE 3
_ _ B _ B B
07/27|[/NE5-6EBF| TiE | 2 |40 om| 1 |2z A 6 |TFKF 13750 |2 |5 & 6| AMLEL 147063 |3 |=ME Mg 5 |SMTC Jr 5776 |4|BLE & 6[IFEF 155081
100m B B B B
5|hF EBEl 5|IbhRAAC | 168031 || 6=k Az b|kFREL)57 | 168066 || 7|26 =Z  5|SMIC Jr 177002
EHR EHR B




No.6

fSvd - J4—)LFTER - F:FE - HRE - A - BLERR
bety BER a— k(31 B4 $F46[E] FmIPXEELERBOEFIEXRS a— R 19 31 0712 #eq|E MG B E EZ BN KR
T FA FEER KR b SRS CRTH - EET - BAE - BBBRBHELSEETRS R4 KFMEEIUELFRS 2k | 312030 | Sk AT RE B
ar|omn | | e i e |0 s i || BEEs e || wEs e e
07/27|/NE5-6E B F| TiZ | 3 |+0.om| 1 /MR BRI+ 6 |TFRF 137006 | 2 |5E 1&& 6 |KFWEL)57 | 19872 |3k B’ 5|SMIC Jr 157004 |4 |58 Hm 6 |SMIC Jr 167008
100m B B B B
5|22 @3 5 (%ésﬁ/uAC 168072 | 6|25 FI@ 5 Z%Qg”‘ﬂ 167097 2 EES Té;:? RE
5 EY 5 EY 5 EY
07/21[/NZ5-65E B F | REE | |-0.om 1 /M= #&Ir 6 |[TFKF 13811 || 2|BxL #8A 6|IFkF 3877 |3 |GkE 1&E 6 |KFREL)57 | 195092 | 4|@mA BE  6|IFKF 147045
100m B B B B
5|5 @3 6| AWLEL 147095 |[6|F= ®BA 6 |TFKF 157034 |[7|=@ H®IE 5 |SMTC Jr 167033 Al BPEA 6 |1& 4077 3
_ _ B _ S IS B
07/ 21| E3-4EBF| TaE |1 |+1.2m 1 |BE &BE 4|IFKF 157076 || 2 |=33m ABH 3 |SMTC Jr 167034 |3 ;=@ ge&E 4| AWLEL 167066 | 4 |1k a=@ 3 [FOE/D 167089
100m B B B B
5|ZE® AlSr  4|EFELIT | 17802 |6ZE WA 3| KWLEE 177046 |[7|A BE 4| KWLEE 17#52 |[8|@EIR B2 3 |SMTC Jr 187072
_ _ By ) By By _ _ B
07/27[INE3- 0B F| T3& | 2|-0.2m 1 1EE &0 4 [KYSEK 157009 || 2 [/NEFIRALE 3 |SMTC Jr 67021 |3 |HhA 2R 4| ALUEL 67079 |4 |Ht =H 4| KWLEL 167086
100m =i B B B
5% i&th 3 |F0@E/D 177065 |6 (&Nl L& 4| KILEL 187022 || 7|/MFR E54r 3 |IFRF 18%)26 &k BE 3 |SMTC Jr x5
_ By ) By _ _ ] B B
07/2T[INE3- 2R F| D& | 3 |+2. 4| 1 (ERA—I8, 4 |KFREL)5) | 168001 |2 | JBH 4| KWLEL 15859 |32l Ba 4|IFKF 167042 |4 |=@ Z0ZE  4|[cHEAAC | 165562
100m B B B B
5|R3L B/ 3(SMTC Jr 165065 |[6|mWE #Idk 3 |SMTC Jr 17%020 || 7 |#K &  4|SMTC Jr 18§042
_ By _ ) B ) _ EH
07/27T|/INE3-45 B F | MG | |-0.0m 1 {ERA—WE A4|KFEL);) | 16049 |2 |R=5 Ba 4|IFkF 1670056 |3 |1EE &L 4 [KYBEK 167008 | 4 |a#d JEH 4 | KWLEL 167012
100m B B B B
5|F@B &= 4|TFXF 168027 (|6 |/NEF[R4LE 3 [SMTC Jr 16¥038 || 7 |23 A 3 [SMTC Jr 168071 S|=FE #HM4&E 4|I2b7AAC 17799
S S _ IS SR _
07/21[/NET- 25 BF | REE | |-0.2m 1 |[ILA Bk 2 |KFEEEr5) | 902 | 2|7A B 2 |F0E/D 9F005 |3 |E 2 —B8 2 |[f0E/N 018 | 4[IA 18 2 [IFEF OFb51
50m B Em B B
51%FHA BW 2 |XKFkELEHFT 9§80 6[KZE [FH 2|F0E/ND 107045
By By
07/21//NEBEF R &% B&% 6 %ﬁc 25334%057 | 2 |5 At 6 %&% 253367083 || 3 |HE A3k 6| ALREL 25 A3F018 | 4 | Bz &3k 6 |SMIC Jr 253497050 |
800m B B B B
5% B[ 5|SMIC Jr 25354F11([6 [EE &Z 5 |SMTC Jr 25354R82 [ T[IIA 2280 3 | A 253505044 |8 [TEE KMt 5 |I=bRAAC | 35035044
B B B B
9|FEH ®t 3 t%uaam 3503F07[10|AR BE 4 Z%QE.IBEJ: 350762 [TT[/NEFEALE 3 s%M;c Jr 3513/ 16|12 B Bk 5 éﬂgamc 35137536
B 5 H S HY S HY
13[7A& mA8 2 [fn@/N 35158015 |[14[faR Z&E 3 |SMIC Jr 3516¥082| [fAE SESr 6 |TFRF x5 M =it 6 [TFEF xR
B B B B
T B= 5|IcHHAAC xR =fE & b5|AKWEEL R
| _ _ IS1 __ ISE _
01/21|INEBF R A BE 6 B @3 6 L BEIEEG hF BB 5
4 % 100mR 1|BiL %K 6|TFxF 54Fb16 [ 2|Es K3} 6|KILkEE 150170953 |=ME MIE 5 |SMTC Jr 1503874 |=E 4%  4[I2BHBAA  |ssreorr
HiE KE 6B 2% A H(EW % Hm 5 |BH By &3 5|BW
_ g s 6] =iE B 5| By &3 6| i WA Kih 5| i
07/27|I 256K F| T3 | 1 |+0. m| 1 [lUE &&32 6 |SMIC Jr 147088 |2 [&E & 6 |IFkF 147080 |[3[&B #&= 6 |SMIC Jr 158020 || 4[/h#k = 6 |IFKF 157033
100m B B B B
5|53 B 6|SMIC Jr 157064 |6 |ILT EEB 6| KWLEL 167004 | 7|7kO B/ 5 |IFkF 167045
_ 5 _ IS IS
07/27|INE5-6E & F| TiE | 2 |+1. 1m| 1 U1K ULy 6|TFRTF 4734 |2 |E& Lt 6 |SMIC Jr X BEEE RIS 15807 |4 |= LM+ 6|I-BHAA | 15539
100m B Em B B
5|%R #ID  6|IFKF 15%)57 |[6|FA = 5|SMTC Jr 157080 |7 |E® f&5 5 |SMTC Jr 167027
SR SR IS




No.7

fSw D - J4—)LRTEH - FiE - ZERE - RS - BRER
bl EER a— R |31 B4 $£46E FAEEMXEEFBREFIERS a— R 19 31 0712| S E Mg B & X2 B OB
T FA FEER R B B RS CRFH - BT - BEE - EEBEBTREBRGRS B4 KFMERILELEFRS 2k | 312030 | Sk AT RE B
ar|omn | | e i e |0 s i || BEEs e || wEs e e
07/21|/INE5-6 5 & F| o | 3 |+1.4m| 1 |)1[3f (E&F 6 |IFKF 145025 [2|lU4E =¥ 6 [KWLEE 147038 [[3|FH=ENE 5[TFEXF 155054 [[4]#AK =ZE 6 [SMTC Jr 155076
100m B B B B
5|thiE FA 5[TFEF 15084 |[[6|@EI f& S5|TFEKF 165085 BEx{D 5 |SMTC Jr x5
B _ B IS
07/21|/NE5 -6 R F | iR -imf TP E# 6 |TFRF 145064 [[2| 1L = 6 [ KIWLEE 147070 | 3|11 WLy 6 |[TFEF 14075 |4 \UE #53& 6 [SMIC Jr 155002
100m B B B B
5l LZE  6|TFEKF 157005 |[6|hE #&85 5 |[TFEF 157038 |[7|iEZ& & 6 [SMTC Jr 157045 8= #Z 6 |SMTC Jr 155064
_ EHy B EHy ) E Y )
07/27|/1h23-4F &+ | F2F [ 1 |+1.6m( 1 [;3H & 4|XKFELIT 16¥043 (2 |FE w8  4|TFXKF 16¥53 [[S[IFAETDE  4|TFXKF 17#33 [[44&E& =75 3 |SMIC Jr 17%#90
100m B B B B
5% =& 3|SMTC Jr 18¥063 (6 |#EEr #EfE 3|ITBHLZAAC 19116 A/ 3|I2BTAAC Ri5 Nim ZEF 3|TFkF Ri5
_ _ B - EHR _ B - _ B _
07/21[INE3- 4R F| Ta& | 2 |+2.2m| 1 =08 Z=4 4 |SMTC Jr 15873 (2 |#&E T 4|I2BHAAC 178002 [[3|FA LY 4[KFBELESIT | 17805 |44 EF  4|SMTC Jr 17061
100m B B B B
5|&& = 3 |IFEF 187052 |[6|%E #&x 4|F0A/ND 187054 |[7|#% BLKF 3 [SMTC Jr 207182
| _ LN S _ _ S __ _
07/27|/IMN#3-45FL&F| FZ [ 3 |+1.6m{ 1 [EKR Fij/y 4 |SMTC Jr 16¥034 |2|&fE 5 4|SMIC Jr 17#07 |[3|EANFNE 4|I2B4HZAAC 17#59 |[[4|iFE &BE 4|I2B%HAAC 17§66
100m B B B B
5[IUE B3 3 [SMTC Jr 187010 [[6[aTE =M 3[IZBHAHAAC B GEEEDRIGEDR 195042
_ B B _ B
07/27|!N23- 4L F| R +0.8ml 1|54 =&  4|SMIC Jr 168013 |[2|FEKR #1754 |SMIC Jr 168062 | 3| Mg 4|TFXF 16%066 | 4[;B2H 7 4 |KFRBELEIFT 16§68
100m BEY B B B
5|%E TR/ 4[I2BHHRAAC 177035 [[6[|IFEE2= 4[TFXF 177038 [[7|&%E ©®L  4[KFELH7 | 17798 =fE Z5  4|SMTC Jr x5
_ S S IS SR
07/27|/1 221284 F | Ri% 0. 1m| 1 [BFAMZBHRET 2|TFXKF 8#093 2 (% BB 1| RWLEEL 9#30 |[3|¥EE #ER 1[|I2B%AAC 97043 4(FHE ZExg 2 |EBHE/N 97082
50m BEY B B B
5E0 #E& 2 |[SMTC Jr 987 [[6|&RE HH 2 |SMTC Jr 88 |[7[x¥F wnF 2|F@E/ND 97096 [[8|FAR £KE 1[I2HHRAAC 107011
_ S _|1BmW _ B _ B
07/21|INE&ZF RB 1|1/ H# 6|TFXKF 25739082 2 ({E < KHHZE  5|TFXF 25704780643 (EA # 5 |E2FEJTS 257049F035 [ 4 [hIE ZFA  S5|TFXKF 257497186
800m E 1 B ER B
S5(IA HiE 5 ([EE/N 2753F084 |6 |HEHE #FEk 6 |TFKF 2754%99 | 7 |;EH 4 KFRELYFT [ 39047090 8 |FTFEH  HULY 4 KFBELESHFT | 349068023
B B B B
IlEAE FE 4[I2BHRAA [35168003[10[4EF ZH 3 [SMTC Jr 3738753 [E@EE S  5[SMTC Jr RI5 Pl k1§ 6 |TFKF x5
B _ B B B
07/21|INEZF RBE INFR E 6 2z tiE 6 =FEHFE 6
4 x 100mR 1% E#  6|TFRF 57#b79 |2 [ILE #£FE 6 |SMTC Jr 143005000 | 3 |[EAJIFIE  4|I2BHEAAC | 14087068
mE DE 6|BH Bl FF 6|8H e HFE 4|1Bl
NN %E 6 _ = B 6 EE T 4
07/27|— 8% - eREF| R e BN 185 m/5  [[2[EE XIE 1[XFERS Tm60
E 5 Bk B B _
07/27|—1& - e%BF| i 1|8E  HE EHYAS Tm12 2 (E EH BEER TmO1 3|&F FFm BEER 6m69 47 EE 4|B8X 6m69 (+2. 4m)
FE M Bk B +1.1m B +0. 4m EmR 0. Om BB 436m58 (+1. 7m)
S5(EH &k 2|85 6m37 6ithid MR 2[XFiIsm 6m34 TEHE &£ 2[(XFhis 6m19 8| L&t 1[Es 5m91
EHy +0. 2m EHy +1.5m EHy +1. Om EH 0. Om
9ldkdt HMEA 2|k FAS 5m61 10/EHE BEE 1|XFIEES [4m8o¢+2.6m| |BEF EBE#ft 2|XFIXEE Ri5 T KE 2(XFIXE Ri5
B +1. 2m B 434mA49 (+0. 9m) EmR B
FE EEk  4|BEX R 15
| _ S
07/27|—% - BB F| R THe B 185 11m26 (+2. 8m)
=Bk B 231117 (+0. 9m)




No.8

fSw D - J4—)LRTEH - FiE - ZERE - RS - BRER
bl EER a— K |31 B4 $£46E FAEEMXEEFBREFIERS a— R 19 31 0712| S E Mg B & X2 B OB
T FA FEER R B B RS CRFH - BT - BEE - EEBEBTREBRGRS B4 KX FHERILELEFRS 2k | 312030 | Sk AT RE B
ar|omn | | e i e |0 s i || BEEs e || wEs e e
07/27|— 3B+ R 1%t B EEX Tm38 2|1=% K EERpER 6m6 1
B33 [7. 260kg] __ B B _
07/21|— B+ | R B 1128 BIE EH[ER 40m15 AP EN=] BEHRX 23m34 35 #2Z PR ERRER 21m13 4 111 %% B 6|BEmXK 19m08
g% [2. Okg] BEY RKEH B B B
S5|HE X gﬁlfﬁﬂi’rﬁ 16m37
B
07/21|— B+ R B 115 #£2 eI ERFER 27m80 |[ 2 |Fafm 1E2 EDHRE 25m09
N —1%[1. 260kg] 5 #E _ _ _
07/27|—#& - ERBF| RH 1A 2% KFAs 32m30 2 |(FAHE R X*XFIXEF 31m40 3 (BN X KFAS 30m25 AlRR B 1|XF85 28m02
o U $[800g] B B B B
5z X 5%&?1%% 23m60 6= KXiIF gﬁiﬂi’rﬁ:’: 20m92
E 5y E 5y
0721 &axEF RBs 111X B\FE Bies 11m03 218K X BEs Tm95 J|EHE 2% KXKFS Tm56 4D B— 2(XFAS Tm04
E Ty E 1y _ By B}
1HH BEX KFAE 21m28 WX 'EE BHREs e L
FI883% [1. 75ke] B _ B
0721[@xBF | R TS e 19m76
NI —15%[6.0kg] _ S _ _
07/27|— 8% - BR&TF| RIE 1| EXEES = md0 |2 [AFERLTE = Tm30 it E =3 R 15 ECEEDRIE TS x5
E S Bk EiR B B _ B
07/27|—# - B&&F| R 1ItE BE KFE= 5m19 2188 FIMR BES 4m61 (+2. 2m)|[ 3 |4t B BES 4mb7 AEAX #HH 1 [XFHS 4m13
FE M2 Bk B 0. Om B 234mA8 (+1. 2m) B +1.0m Em -1.3m
5T =K EERIAS-2"  [3m98 (+2. 3m)|| 6 [#ARE  sKmE KFERS 3m70 TN EF B x5
B H 433m70 (0. 9m) B +1.6m B _
07/27|—# - B&F| R 1188 Em] SNTC 1m32(+2. 4m) [ 2 | FiMA = AR NEEEEL B Ri5
| = Bk B 4311m26 (+1. 9m) B 439m79 (+1. 6m) _ B _ _
07/27|—1& - e&¥F| i 11580 =ik 2aits 22m90 |2 [lUKX FOE 2Eite 19m42 || 3[R EBF SEE=S 15mb5 & FH 1(E= Ri5
o fE% [1. Okg _ IS IS IS ISt
07/27|— 8% - BR&EF| R e TES BEEilE 33m23
1o U $%[600g] SR _ _
07/2]|h=2EF R 1|igE #Kk EOD 1m55 2 [BBKR B&a EBEE -G 1m40 IEF WM EO 1m35
E =Bk IS _ IS IS _
07/21|h=5H+ RS REIEEETS HIEF 5m85 2|lim BE HIYEF 5mb3 J|EKR ZRig BEE=t 5m27 4EZEEE 2 |EWEF 5m27
FE T2 Bk B -0. 3m B -0. 5m B +0. 8m B -1. 8m
S5|FIL fEEF EEE=t 4m61 6| LB FEE BR 4m60 TIINS 835 HEs 4m59 8 &= £ 2|Bm@ms 3m68
B -2. Om EiR +0. 7m B -1. 8m EmR -1. 3m
9|1%A iy Hm 3m45 4R BB £ 0 Ri5
_ _ IS -0. 2m IS _ _
07/21|H=5HF R B 1|RKI & i) 2 cf 9mb3 2[faH —= BEE 9m44 3/ A HEgh 6m58
faAL3% [5. Okg] _ B B IS
07/21|HhZ2BF | RB 1/ha @ Higt 46m85 |2 [)Il;d #4E fnjs & 38m75 |[3[EE E= Bt 3Bm28  [[4[RL ¥ 2 [KFIIH 28m78
2 SO AR, = B B B B B
S|IMT A %mq: 17m25 || 6 [LU4R &% g%”ﬂlﬂ 11m91
B EH
07/27|h=E&+ RS HEINESeES FARmH 1m25 2 [LL1R P EOh 1m25 T EJCYE 1m15 AIRT R 1|E&R$ 1m05
E = Bk B B B B
X2 [BF ER G L JEH i FEAH R 15 SHERHAATEE =1 {& Ri5 MO #B 3|gE~sES R 15
EHR EHR B BE




No.9

fSw D - J4—)LRTEH - FiE - ZERE - RS - BRER
bl EER a— K |31 B4 $£46E FAEEMXEEFBREFIERS a— R 19 31 0712| S E Mg B & X2 B OB
MR TR LR CRT - BT - 030 - BHBEBTELEBEGS pitin4  RFHERWUEERRS a—F [ 312030 | k(i E W
ar|omn | | e i e |0 s i || BEEs e || wEs e e
07/21|H¥E&F R 11X FHEF 1|HBEE=D 4m62 2| KE WA FARmH 4m46 J|IHF Ek 2|EEFE-G 4m33 4 [ KRAEKZE Ny e 4m07
FE M Bk B -0. 6m B -0. 2m EmR -0. 1m EmR 0. Om
51FA& #4& 1|E@T 3m88 | 6|[/ME Tt ERd am87 |[7|hE TEXE 1[XKWLF m’5 |8 [P B= HEH 3m52
B 0. Om B +0. 2m B 0. Om Em 0. Om
9(mafll &L 1|mxEsP 3m18  [[10[ R4 #b& EP3as 07 (11 KE FE 1|ER&RE 2m43 WE RE HIEH Ri5
B +0. 1m B -0. 1m EmR -0. 2m EmR
= F#  3|Bms R 15 FH B FEAH R 15 Ny #wE®E J|HEFH R 5 E i & R 15
_ B EHR B _ BE _
07/21|HE&F RS BEIEEZEEEE S 8md4 ANTEE ¥ XL 8m42 3% EHE 3 |@EfESH m17 4{AK EE FAT 6m75
fai % [2. 721kg] B B B B
5188 EME 1 |EKRH 6mb5 6 | itk =1 Hmgrh 6m27 1|8 % FHE 1|BEE 6m05 8 |WL4E  HF p I 4m37
| _ SR ISEN S __ S
07/21|HEZF RBs 1|\ 2F 3 |ERFS 31m03 2|FE E& HE s 28m66 J|lufzE Y RGNS 27m55 TNE 3 BEH =4 H 21m16
DRIy o RAO— B E B B B
5|REA &K 2(BEm4 20m89 6|=; TE &1 & o 19m13 AR EME 3 |MifE 18m45 8|kH = ZEky B 18m43
B B B B
9|HHE HEE 2|x£FH 14m88 [[10|BER Y & =) {2 e 13m38 INSRBEF  2|HEFHSG Ri5
E _ EHy E 5y a
07/21[/NFEBEF R T[A® X3+ 6|KILEE am87 | 2|EFRE @ ALfEE 3m63 |3 |=E MIEM 5 |SMIC Jr 3md0 |4 | 1&3F SMTC Jr 3m3b
FE M2 Bk B +1. 8m B +1. 8m EmR +0. 9m EmR +0. 3m
51 #M&E 4|I2BHAAC 3m19 6|1BE &0 KY & E 3m16 7|H#%E Hm 6 |SMTC Jr 3m06 8=k AFE XFRELESH57 |3m04 (+2. 8m)
BEY +1. 3m B +0. 3m B +1. 8m Em 422m69 (+1. 2m)
9@ fGE 5 |SMTC Jr 2m91  |10[ch#f EEA (2% 75 AAC 2m90 |[11[fE& Xt 5|25 AAC 87 |12[RE TFRF 2m87
B +0. 8m B +1. 5m Em +1. Im B +1. m
13[hA TH 4|KILEE 2m83 142 —#& FOE/ 2m77  |[15|&N ¥E 4| KWLEE 2m66
S +2. Om _ | S R +1.2m IS +1. Om . _
07/21[/INFBF R 1% B&ES 6|TFKF 362 |2 |EH = (2% 75 AAC 36mo4 ([3[;BE =& GS[RFELE)T | 34m92 [4[RE HH TFRF 27m88
AR NPT S 23 EE B B BE
S5|fEZE HREE 5 (F1E/ND 27m04 6|FK Bl KXFRELEHFT 24m00 JAL S &®  4|SMTC Jr 23m94 AH EB T&H937 Ri5
E 5y _ E 5y _ By ) B )
07/27INE & F RS 1w E# 6 |TFKF 3m97 2 | £ TFXF 3m66 JIMA ZEZF 6|SMTC Jr 3mb9 4 1R = TFXk+F 3mb6
ENZE Bk B +1. 6m B +1. 1m B +1. 3m EmR +1. 4m
5[#A& f2#F 6 SMTC Jr 3mb5 | 6 [RZHELE TFEF 3md2(+2. 1m)|| 7 |[hE #E&F 5 |TFERF 3m35 |[8|FHEMR TFKF 3m25
BHY +0. 9m B 433m08 (0. Om) B +1.5m E +1.7m
9l)ko Em  5|TFRF 2m99  |[10|%fE =5 SMTC Jr 2m96 |[11|ZR #D 6 [TFXF 2mb4
B +1. 6m ISEN +0. 1m B +0. 3m
07/21{INFE&ZF RS RS FE  6|TF£k¥F 42m46 2| = EHFE 2574 AAC 31m83 3| 12F 6 SMTC Jr 24m10 4\ Tk fEx FE /N 9mO1
YA )y IR B B B B




